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5.

Quiz Y4

Pq\:\r q) The +qn3~m+ |ine Passes 'H'\e po‘m‘\‘s wiH\
QPpro)(i\rm're coordinates  (1,0) And (3}I5). ‘Using the
slope formvla Hhis means P (3D & 15-0 - 75
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Paet b) PUN=0 means +o look ot Pre A-coordingtes

0‘\- ahy Po‘\Vl'*‘ on +he 9?"\?\\ ‘H(\c{\‘ \\q: (& \novillow"q\

-l'mngen‘\' line. This }\ﬂppen}‘ ot qppmx'\mﬂ-\-\g = |7 an
=Y.l

Pavt ¢) Draw a "ine with slepe B by 0ring the idea
o% "rise over ™" and the gvid o P picor b
Lind the povts wheve +he %V\g,evc\' line is pavallel +o .
This happens at  approximatey X=2.2 AND %=3.6
Either answer s acceptoble .

T is O at X=0. The moximem slope valve o
+he Ieaph ¥ abort 1.5 whidh owovs ot abot [.3=1X.
S‘]h,'\\our\ﬂ e minimom slope valve on Pre graph i abost
=1.5 Which ocews at abyst X==|.3 The sktd ot
the graph of 4=T'( s giwen below.

I (1-3,1.5)

(¢,0) X

(-1.3,~1.5)



